

REQUEST FOR QUOTATION	<p style="text-align: center;"><b>TROY SCHOOL DISTRICT</b></p> <p style="text-align: center;">1140 RANKIN, TROY, MICHIGAN 48083</p> <p style="text-align: center;">248-823-4052</p> <p style="text-align: center;">FAX: 248-823-4077</p>	REQUISITION
No. <b>9385</b>		
DUE DATE <b>1-8-07</b> NO LATER THAN <b>3 p.m.</b>		DATE <b>12-20-06</b>

**REQUEST FOR QUOTE – NOT AN ORDER**

THIS FORM MUST BE UTILIZED WHEN RESPONDING TO THIS REQUEST  
BID ENVELOPE ENCLOSED

**THE RFQ NUMBER MUST APPEAR ON ALL QUOTATIONS AND RELATED CORRESPONDENCE, THIS IS NOT AN ORDER**

Quantity	DESCRIPTION	UNIT PRICE	AMOUNT
	<p>Please supply us with your bid to furnish the Troy School District with <b>MATH SUPPLIES</b> for elementary and middle schools per the attached specifications.</p> <p style="text-align: center;">Copies of the bid are available at: <a href="http://www.troy.k12.mi.us/purchasing/items_out_for_bid.htm">www.troy.k12.mi.us/purchasing/items_out_for_bid.htm</a></p> <p style="text-align: center;">Bid recaps will be available at: <a href="http://troy.k12.mi.us/purchasing/index.htm">troy.k12.mi.us/purchasing/index.htm</a></p> <p style="text-align: center;"><u>FACSIMILE BID IS NOT ACCEPTABLE</u></p> <p>Bids will not be accepted if submitted after the deadline specified (local time) in the advertisement to bid or in the information to bidders. The late submission of a bid makes the bid nonrepsonsive and is a material defect which shall not be waived by the Board of Education. Delays in the mail will not be considered. All Late bids in the mail will be returned to the bidder unopened.</p> <p>Proposal for the submission of alternatives by vendors will be accepted and reviewed. However, if any substitution or departure is not clearly noted and described, it will be understood that the bid intends to exactly meet the specifications.</p> <p>The Board of Education shall be the sole judge as to whether the proposed goods are "equal" or "approved". Quotations must be mailed or delivered to the Purchasing Office, 1140 Rankin, Troy, MI 48083 no later than 3 p.m. on the date shown above. Michigan State Sales and Use Taxes and Federal Excise Taxes do not apply unless otherwise indicated. Exemption certificates will be furnished when necessary. This request imposes no obligations on the buyer. The Board of Education reserves the right to accept or reject any or all bids or to split awards by items or to accept bids, which will best serve the Board of Education.</p>		

**THIS AREA MUST BE FILLED IN**

DELIVERY TIME	PRICES FIRM FOR	NAME OF COMPANY	TELEPHONE NO.
TERMS		NO. & STREET	FAX #
FOB DELIVERED	ALL DELIVERY CHARGES MUST BE INCLUDED IN PRICES SHOWN	CITY, STATE & ZIP CODE	E-MAIL
CONTACT PERSON (PLEASE PRINT)		SIGNATURE	DATE



**TROY SCHOOL DISTRICT  
 BID 9385 MATH SUPPLIES**

**ELEMENTARY SCHOOL MATH SUPPLIES**

Qty.	Description	Item	Alternate	Unit Price	Total Price
	<b>E T A Cuisenaire Item Numbers</b>				
12	1-2-3 OY! Game	M640084			
3	"24" Game, Single Digit REVD	M62083			
3	"24" Game, Multi/Div Factors	M62082			
3	"24" Game, Double Digit, REVD	M62084			
1	Base10 Stamps, Set/4	M65599A			
1	Base10 Place Value Set, Orange	M640202			
1	Counters, 3/4", Trans, Set / 250	M6715			
1	Base10 Units, Orange Set / 100	M65521			
11	Compass, chalkboard, 16" Long	M65309			
4	Compass, Circle Master, Set / 30	M64031			
1	Cuis Rod, O/H Set / 60	M64211			
1	Cuis rod, 6 Trays of 74, Plastic	M64212A			
1	Decimal Squares Clrm Mgmt Ctr	M69875			
1	Factor Blocks Lab Set	M67552			
3	Fraction Tower Equiv. Classroom Kit	M643024			
3	Fraction Circles Classroom Kit	M642857			
2	Pegboard, XY Coord., set / 6	M646130			
1	Geoboard, 11 x 11 Pin. O / H	M69675			
3	Geoboard, Double Sided, Set / 5	M64880			
1	Geoboard, Circle, O / H	M69638			
1	Geoboard, 5 x 5 Pin, O / H	M69644			
1	Number Line, Teachers	M64924			
36	Wrap-Ups Multi, Set / 10	M67263			
36	Wrap-Ups Division Set / 10	M67264			
1	Georeflector Mirr. Set / 10 RD	M69337			
1	Pattern Blocks Classroom Kit	M642830			
1	Power Solids, Set / 12	M69387			
2	Spinners, Blank, O / H, Set / 5	M64576			
3	Super Source CD. K-8 Library	M6P42317			
	SHIPPING				
	<b>ELEMENTARY TOTAL</b>				

**MIDDLE SCHOOL MATH SUPPLIES**

Qty.	Description	Item	Alternate	Unit Price	Total Price
	<b>E T A Cuisenaire Item Numbers</b>				
8	Power solids, Set / 12	M69387			
8	Spinners, Blank, O / H, Set / 5	M64576			
3	Super Source CE, K-8 Library	M6P42317			
9	Tangrams, Plstc., Set / 24	M61516			
8	Versatiles Math Level 6 Lab	M6P912006			
8	Versatiles Math Level 7 Lab	M6P912007			
4	Versatiles Math Level 8 Lab	M6P912008			
6	Fract. Tower Equiv. Classroom Kit	M643024			
2	Fraction Tower Resource Kit	M65279			
60	Geoboard, Pattern Block	M69672			
2	Geoboard, Isometric, Plstc. O / H	M640371			
1	Geoboard, 11 x 11 Pin, O / H	M69675			
6	AlgeBlocks Deluxe ClassKit MS	M6P40583			
18	Algebra Tiles Clspk., 30 Sets	M640244			
3	Compass, Chalkboard, 16" Long	M65309			
10	Cuis rod, 6 Trays of 74, Plstc.	M64212A			
3	Base10 Place Value Set, Orange	M640202			
4	Georeflector Mirr. Set / 10 RD	M69337			
	SHIPPING				
	<b>MIDDLE SCHOOL TOTAL</b>				

**LARSON MIDDLE SCHOOL**

Qty.	Description	Item	Alternate	Unit Price	Total Price
	<b>E T A Cuisenaire Item Numbers</b>				
7 sets	Angle Ruler, Set / 30	INS3524			
3 sets	32 Compass. Safety Set/32	IN41847			
4 sets	Factor Blocks Class Set	IN7550			
1 set	Factor Blocks Factor City B	IN7540			
3 kits	Snap Cubes Classroom Kit	IN42851			
	SHIPPING				
	<b>TOTAL</b>				



TROY SCHOOL DISTRICT Bid 9385 Math Supplies Elementary and Middle Schools			CO.: ETA/Cuisenaire TERMS: Net 30 FIRM: until 4-1-07			CO.: School Specialty TERMS: 0% 30 Days FIRM: 90 Days School Specialty Bid #2006189780AP		
Qty.	Description			Total Cost			Total Cost	
<b>ELEMENTARY SCHOOLS</b>								
12	1-2-3 OY! Game	M640084	*BD40084	7.08	84.96			NO BID
3	"24" Game, Single Digit REVD	M62083		18.33	54.99	309411	13.87	41.61
3	"24" Game, Multi/Div Factors	M62082		18.33	54.99	079028	13.87	41.61
3	24" Game, Double Digit, REVD	M62084		18.33	54.99	357818	13.87	41.61
1	Base10 Stamps, Set/4	M65599A		9.12	9.12	set of 6 280760	8.80	8.80
1	Base10 Place Value Set, Orange	M640202		26.50	26.50	084944	50.61	50.61
1	Counters, 3/4", Trans, Set / 250	M6715		0.83	0.83	087919	2.93	2.93
1	Base10 Units, Orange Set / 100	M65521		0.78	0.78	084942	24.33	24.33
11	Compass, chalkboard, 16" Long	M65309		7.43	81.73	17" long 084470	3.67	40.37
4	Compass, Circle Master, Set / 30	M64031		62.43	249.72	382901	1.35	5.40
1	Cuis Rod, O/H Set / 60	M64211		1.23	1.23			NO BID
1	Cuis rod, 6 Trays of 74, Plastic	M64212A		20.85	20.85	300081	29.62	29.62
1	Decimal Squares Clrm Mgmt Ctr	M69875		182.50	182.50			NO BID
1	Factor Blocks Lab Set	M67552		37.53	37.53			NO BID
3	Fraction Tower Equiv. Classroom Kit	M643024		67.83	203.49			NO BID
3	Fraction Circles Classroom Kit	M642857		41.00	123.00	082403	28.63	85.89
2	Pegboard, XY Coord., set / 6	M646130		26.95	53.90			NO BID
1	Geoboard, 11 x 11 Pin. O / H	M69675		1.13	1.13			NO BID
3	Geoboard, Double Sided, Set / 5	M64880		3.25	9.75	236219	6.30	18.90
1	Geoboard, Circle, O / H	M69638		1.90	1.90			NO BID
1	Geoboard, 5 x 5 Pin, O / H	M69644		0.83	0.83			NO BID
1	Number Line, Teachers	M64924		4.50	4.50	327717	4.01	4.01
36	Wrap-Ups Multi, Set / 10	M67263		6.75	243.00	218006	5.15	185.40
36	Wrap-Ups Division Set / 10	M67264		6.75	243.00	218009	5.15	185.40
1	Georeflector Mirr. Set / 10 RD	M69337		10.33	10.33			NO BID
1	Pattern Blocks Classroom Kit	M642830		52.50	52.50			NO BID
1	Power Solids, Set / 12	M69387		6.38	6.38	054071	9.14	9.14
2	Spinners, Blank, O / H, Set / 5	M64576		1.03	2.06			NO BID
3	Super Source CD. K-8 Library	M6P42317		199.95	599.85			NO BID
	SHIPPING				-0-			-0-
<b>ELEMENTARY TOTAL</b>					<b>2,416.34</b>			<b>775.63</b>
<b>MIDDLE SCHOOLS</b>								
8	Power solids, Set / 12	M69387	*BD69387	6.38	51.04	054071	9.14	73.12
8	Spinners, Blank, O / H, Set / 5	M64576		1.03	8.24			NO BID
3	Super Source CE, K-8 Library	M6P42317		199.95	599.85			NO BID
9	Tangrams, Plstc., Set / 24	M61516		6.88	61.92			NO BID
8	Versatiles Math Level 6 Lab	M6P91200		299.95	2,399.60			NO BID
8	Versatiles Math Level 7 Lab	M6P91200		299.95	2,399.60			NO BID
4	Versatiles Math Level 8 Lab	M6P91200		299.95	1,199.80			NO BID
6	Fract. Tower Equiv. Classroom Kit	M643024		67.43	404.58			NO BID
2	Fraction Tower Resource Kit	M65279		56.60	113.20			NO BID
60	Geoboard, Pattern Block	M69672		3.68	220.80			NO BID
2	Geoboard, Isometric, Plstc. O / H	M640371		2.48	4.96			NO BID
1	Geoboard, 11 x 11 Pin, O / H	M69675		1.13	1.13			NO BID
6	AlgeBlocks Deluxe ClassKit MS	M6P40583		354.95	2,129.70			NO BID
18	Algebra Tiles Clspk., 30 Sets	M640244		48.18	867.24	087680	53.87	969.66
3	Compass, Chalkboard, 16" Long	M65309		7.43	22.29	17" long 084470	3.67	11.01
10	Cuis rod, 6 Trays of 74, Plstc.	M64212A		20.85	208.50	300081	29.62	296.20
3	Base10 Place Value Set, Orange	M640202		26.50	79.50	084944	50.61	151.83
4	Georeflector Mirr. Set / 10 RD	M69337		10.33	41.32			NO BID
	SHIPPING				-0-			-0-
<b>MIDDLE SCHOOL TOTAL</b>					<b>10,813.27</b>			<b>1,501.82</b>
<b>LARSON MIDDLE SCHOOL</b>								
7	sets Angle Ruler, Set / 30	INS3524	*BD3524	12.80	89.60	066908	0.91	6.37
3	sets 32 Compass. Safety Set/32	IN41847		9.60	28.80	002817	19.87	59.61
4	sets Factor Blocks Class Set	IN7550		52.25	209.00			NO BID
1	set Factor Blocks Factor City B	IN7540		9.63	9.63			NO BID
3	kits Snap Cubes Classroom Kit	IN42851		91.60	274.80			NO BID
	SHIPPING				-0-			-0-
<b>LARSON TOTAL</b>					<b>611.83</b>			<b>65.98</b>
<b>GRAND TOTAL</b>					<b>13,841.44</b>			<b>2,343.43</b>
			*Change all prefixes to BD to ensure pricing					

Lakeshore Learning Materials - No Bid  
ABC School Supply - No Bid  
S & S Worldwide - No Bid

Discount School Supply - No Bid  
Follett Educational Services, Inc. - No Bid  
Scholastic Inc. - No Bid